

MR. DARYL ONG
MARIPOSA ST. CORNER MILFLORES ST., GENEVA GARDENS SUBD., BRGY. NORTH FAIRVIEW, QUEZON CITY
ATTN: MR. ROBY SABULAO
TEL#: 0949-4443169 / 0970-7793699

Dear Ma'am/Sir,

Kolin Marketing Inc., is extremely honored for your endorsement of Kolin brand and we are please to offer you with a special price/s for the following items.

### A. EQUIPMENT & INSTALLATION - revision

\* OPTION 1 \*

QTY	U/M	MODEL / DESCRIPTION	SRP	DISCOUNTED		AMOUNT
3	UNIT/S	MODEL: KS-IW15-MCAI1201M32 KOLIN WALL MOUNTED CERTUS AI SERIES AIRCONDITIONER 12,880 Kj/h (1.5HP) FULL DC INVERTER W/ WIFI R-32	33,995.00	19,336.20	РНР	58,008.60
3	UNIT/S	MODEL: KS-IW25-MCAI1201M32 KOLIN WALL MOUNTED CERTUS AI SERIES AIRCONDITIONER 23,800 KJ/h (2.5HP) FULL DC INVERTER W/ WIFI R-32	50,995.00	31,756.20	РНР	95,268.60
2	UNIT/S	MODEL: KS-IW20-MCAI1201M32 KOLIN WALL MOUNTED CERTUS AI SERIES AIRCONDITIONER 19,000 Kj/h (2.0HP) FULL DC INVERTER W/ WIFI R-32	42,995.00	26,176.20	PHP	52,352.40
2	UNIT/S	MODEL: KLG-IF40-5G1M32 KOLIN FLOOR MOUNTED AIRCONDITIONER 37,980 Kj/h (3.0TR) FULL DC INVERTER R-32 SINGLE PHASE	113,195.00	79,028.20	РНР	158,056.4
1	UNIT/S	MODEL: KS-IW10-MCAI1201M32 KOLIN WALL MOUNTED CERTUS AI SERIES AIRCONDITIONER 9,800 Kj/h (1.0HP) FULL DC INVERTER W/ WIFI R-32	30,995.00	17,056.20	РНР	17,056.20
OTAL	UNIT COS	Т	-		PHP	, 380,742.20
STIMA	TED COST (	OF INSTALLATION (please see attached)			PHP	, 210,050.00
THERS	: DELIVERY	CHARGE			PHP	, 600.00
OTAL	ESTIMATE	D COST OF THE PROJECT			PHP	591,392.20

### TERMS OF PAYMENT:

FULL PAYMENT OF UNIT AND DELIVERY CHARGE. IF CHECK, SUBJECT FOR 3 DAYS CLEARING.

# BANK DETAILS:

- \* Unit/s & Delivery: Account Name KOLIN MARKETING INC. / Account# 011808002307 (BDO-KALAYAAN)
- \* Installation: Will be provided by assigned installer.
- \*\* You may settle first payment for unit/s & delivery. Installation payment can be settled directly to installer after actual works.

## WARRANTY:

FOR SPLIT TYPE: ONE (1) YEAR FREE PARTS AND LABOR, THREE YEARS (3) MAIN PCB, TEN (10) YEARS WARRANTY ON COMPRESSOR. FOR FLOOR MOUNTED (Inverter): ONE (1) YEAR FREE PARTS AND LABOR, FIVE (5) YEARS WARRANTY ON COMPRESSOR.

NOTES: PRICES ARE SUBJECT TO CHANGE WITHOUT PRIOR NOTICE.

PRICES IS VAT INCLUSIVE.

\*\* Cost of Installation is Package with the Unit(s), this cost cannot avail separately (cost will be based on actual works).

We thank you for giving opportunity to offer our product and services, hoping we receive your purchase order.

If you need assistance, don't hesitate to call the under signed at 0917-807-8607 or email at kmi\_asst@kolinphil.com.ph

Very Truly Yours,

JANELLEN S. LIN

Noted by:

KMI-QUOTE-10-25-0763-rev REG-24%/6-5/7K Approved By:

MS. EDITHA M. FLORES

AVP - FINANCE

Conforme:

SIGNATURE OVER PRINTED NAME

Kolin Marketing, Inc.

1854 Sta. Rita St., Guadalupe Nuevo, Makati City

Tel.: (632) 8852-6473

Fax: (632) 8852-2170 / (632) 8852-4792 www.kolinphil.com.ph / kolinphilippines







# GODSPEED REFRIGERATION AND AIRCONDITIONING SERVICES

Customer Name:	DARYL ONG	Date:	OCTOBER 15 2025
Customer Address:	MARIPOSA ST. COR. MILFLORES GENEVA GARDE	N NORTH FAIRV	IEW QC

Qty	Unit Model	Unit Capacity/Type
3	KSG-IWF-15WFY8K1M32	1.5HP Wall Mounted Inverter
3	KSG-IWF-25WFY8K1M32	2.5HP Wall Mounted Inverter
2	KSG-IWF-20WFY8K1M32	2.0HP Wall Mounted Inverter
2	KLG-IF40-5G1M32	4.0HP Floor Standing Inverter
1	KSG-IWF-10WFY8K1M32	1.0HP Wall Mounted Inverter

cation/s: ENTRANCE / MAIN DO	OOR	Area: 12.	00 sqm.					
U#: 1 Unit Model:	KSM-IW15	-WCT10M1N	32 Unit Ca	pacity/1	Гуре:	1.5HP Wall Mou	unted	d Inverter
Estimated Pipe Length =  Estimated Royal Cord Length =  nitial Charge  10ft Copper tube	12 ft 17 ft						₽ -	7,500.00
10ft Royal Cord Outdoor bracket Wall/Floor Consumables Testing and Commisioning								
Outdoor bracket Wall/Floor Consumables	5	Specification		Qty	Т	Price per qty	Г	Subtotal
Outdoor bracket Wall/Floor Consumables Testing and Commisioning		Specification /2"Ø x 1/4"Ø			₽	Price per qty 350.00 /ft	₽	Subtotal 700.0
Outdoor bracket Wall/Floor Consumables Testing and Commisioning Installation Materials	1		2		<b>P</b>		₽	
Outdoor bracket Wall/Floor Consumables Testing and Commisioning Installation Materials Insulated Copper tube		/2"Ø x 1/4"Ø		ft 7 ft	P _	350.00 /ft	₽	700.0

Location/s: **GUEST ROOM** 14.00 Area: ACU #: **Unit Model:** KSM-IW15-WCT10M1M32 Unit Capacity/Type: 1.5HP Wall Mounted Inverter Estimated Pipe Length 20 ft Estimated Royal Cord Length 25 ft **Initial Charge** 7,500.00 10ft Copper tube 10ft Royal Cord Outdoor bracket Wall/Floor Consumables **Testing and Commisioning Installation Materials** Specification Qty Price per qty Subtotal 3,500.00 Insulated Copper tube 1/2"Ø x 1/4"Ø 350.00 /ft 10 ft Royal Cord (Comm wire) 2.0 sq.mm x 4c 15 ft 100.00 /ft 1,500.00

Location/s	: MU	SIC ROOM		Area:	30.00	sqm.		
ACU #:	3	Unit Model:	KSG-IWF-2	25WFY8	K1M32	Unit	Capacity/Type:	2.5HP Wall Mounted Inverter

1

1

pc

рс

1,000.00 /pc

150.00 /pc(s)

#

20Amps / 1Ph

Ø3/4" x 10'

Estimated Pipe Length =  $\frac{22}{5}$  ft Estimated Royal Cord Length =  $\frac{27}{5}$  ft

Initial Charge

₱ 8,500.00

1,000.00

150.00

13,650.00

10ft Copper tube 10ft Royal Cord

Outdoor bracket Wall/Floor

Circuir Breaker Weather Proof

**PVC Pipe** 

**Estimated Charges** 

Consumables

**Testing and Commisioning** 

Installation Materials	Specification	Qty	Price per qty	Subtotal
Insulated Copper tube	5/8"Ø x 1/4"Ø	12 ft	₱ 400.00 /ft	₱ 4,800.00
Royal Cord (Comm wire)	2.0 sq.mm x 4c	17 ft	100.00 /ft	1,700.00
Circuir Breaker Weather Proof	30Amps / 1Ph	1 pc	1,000.00 /pc	1,000.00
PVC Pipe	Ø3/4" x 10'	1 pc	150.00 /pc(s)	150.00
Estimated Charges			P	16,150.00

**DINING ROOM** Location/s: Area: 37.00 sqm ACU #: Unit Model: KLG-IF40-5G1M32 Unit Capacity/Type: 4.0HP Floor Standing Inverter Estimated Pipe Length 30 Estimated Royal Cord Length 35 ft **Initial Charge** 11,000.00 10ft Copper tube 10ft Royal Cord Indoor bracket (floor) Consumables **Testing and Commisioning Installation Materials** Specification Qty Price per qty Subtotal 8,000.00 Insulated Copper tube 5/8"Ø x 3/8"Ø 20 ft 400.00 /ft Royal Cord (Comm wire) 2.0 sq.mm x 4c 100.00 /ft 2,500.00 25 ft Circuir Breaker Weather Proof 40Amps / 1Ph 1,000.00 /pc 1,000.00 1 рс **PVC Pipe** Ø3/4" x 10' 1 150.00 /pc(s) 150.00 рс

 Location/s:
 WIC
 Area:
 21.00 sqm.

 ACU #:
 5
 Unit Model:
 KSG-IWF-20WFY8K1M32
 Unit Capacity/Type:
 2.0HP Wall Mounted Inverter

22,650.00

8,500.00

7

Estimated Pipe Length = 29 ft
Estimated Royal Cord Length = 34 ft
Initial Charge

105.0

**Estimated Charges** 

10ft Copper tube 10ft Royal Cord

Outdoor bracket Wall/Floor

Consumables

Testing and Commisioning

Installation Materials	Specification	Qty	Price per qty	Subtotal
Insulated Copper tube	1/2"Ø x 1/4"Ø	19 ft	₱ 350.00 /ft	₱ 6,650.00
Royal Cord (Comm wire)	2.0 sq.mm x 4c	24 ft	100.00 /ft	2,400.00
Circuir Breaker Weather Proof	30Amps / 1Ph		1,000.00 /pc	1,000.00
PVC Pipe	Ø3/4" x 10'	1 pc	150.00 /pc(s)	150.00

cation/s:	MATERS BEDROOM	Л		Area:	49.00	sqm.					
CU #:	6 Unit Model:		KLG-	-IF40-5G1N	VI32	Unit Capa	city/Ty	pe: 4	.0HP Floor	r Stand	ing Inverter
Initial Char	oyal Cord Length	= _	43	ft ft				d Cau	1911	#	<b>→</b> 11,000.00
10ft Ro Indoor Consun	yal Cord bracket (floor)										
10ft Ro Indoor Consun Testing	yal Cord bracket (floor) nables			Specifica	ation	0	ty	Pr	ice per qt	у	Subtotal
10ft Ro Indoor Consun Testing	yal Cord bracket (floor) nables and Commisioning			Specifica 5/8"Ø x 3					ice per qt 400.00 /ft	-	
10ft Ro Indoor Consun Testing Insta	yal Cord bracket (floor) nables and Commisioning				3/8"Ø	33		₱		t f	
10ft Ro Indoor Consun Testing Insta Insulated Royal Cord	yal Cord bracket (floor) nables and Commisioning llation Materials Copper tube			5/8"Ø x 3	3/8"Ø n x 4c	33	ft	₽	400.00 /ft	t f	₹ 13,200.00

ocation/s:	BEDROC	OM 1		Area:	19.50	sqm.				
CU #:	7 <b>U</b> I	nit Model:	KSG-I	WF-20WFY	8K1M32	Unit Capa	city/Typ	2.0HP Wall Mou	unted	Inverter
Estimated P Estimated R Initial Charg 10ft Co	oyal Cord	Length		ft ft			7 (20 (20 (20 (20 (20 (20 (20 (20 (20 (20		₽	8,500.00
Outdoo Consum	ables	Wall/Floor								
Outdoo Consum Testing	r bracket nables	misioning		Specific	cation	Qt	у	Price per qty		Subtotal
Outdoo Consun Testing	r bracket nables and Comi	misioning aterials		Specific 1/2"Ø x			y ft ₽		₽	Subtotal 11,550.00
Outdoo Consum Testing Insta	r bracket nables and Comi lation Ma	misioning aterials be			1/4"Ø	33			₽	The second contract of
Outdoo Consum Testing Insta Insulated (	r bracket nables and Comi lation Ma Copper tul	misioning aterials be		1/2"Ø x	1/4"Ø m x 4c	33	ft ₱	350.00 /ft	₽	11,550.00

ocation/s: BEDROOM 2	Area: 15.00	sqm.		Market St.
CU #: 8 Unit Model:	KSG-IWF-15WFY8K1M32	Unit Capacity/Type:	1.5HP Wall Mounted	Inverter
Estimated Pipe Length Estimated Royal Cord Length Initial Charge  10ft Copper tube 10ft Royal Cord Outdoor bracket Wall/Floor Consumables Testing and Commisioning	= <u>29</u> ft = <u>34</u> ft		₽	7,500.00
Installation Materials	Specification	Qty	Price per qty	Subtotal
Insulated Copper tube	3/8"Ø x 1/4"Ø	19 ft ₱	350.00 /ft ₱	6,650.00
Royal Cord (Comm wire)	2.0 sq.mm x 4c	24 ft	100.00 /ft	2,400.00
Circuir Breaker Weather Proof	20Amps / 1Ph	1 pc	1,000.00 /pc	1,000.00
PVC Pipe	Ø3/4" x 10'	1 pc	150.00 /pc(s)	150.00

ocation/s:	MAI	OS ROOM		Area:	9.00	sqm.					
CU #:	9	Unit Model:	KSG-IWF-	10WFY8	K1M32	Unit Car	acity/	Туре:	1.0HP Wall Mo	untec	Inverter
Consur	Royal Copper to by al Copper brack or brack mables	ord Length	= 30 ft = 35 ft							₽	7,500.00
Insta	allation	Materials		Specifica	ation		Qty		Price per qty	T	Subtotal
Insulated	Copper	tube	3	/8"Ø x 1	./4"Ø	20	) ft	₽	350.00 /ft	₽	7,000.0
Royal Core	d (Com	nm wire)	2	.0 sq.mn	n x 4c		25 ft		100.00 /ft		2,500.0
Circuir Bre	eaker V	Veather Proof	2	OAmps,	/1Ph	1	рс		1,000.00 /pc		1,000.0
Circuit bit			1					1			C

ocation/s:	LIVINGROOM	Area	: 44.00	sqm.					
CU #:	10 Unit Model:	KSG-IWF-25WF	Y8K1M32	Unit Cap	acity/Ty	/pe:	2.5HP Wall M	ounted	Inverter
Estimated Initial Char 10ft Co 10ft Ro Outdoo	opper tube oyal Cord or bracket Wall/Floor	= 28 ft = 33 ft						₽ _	8,500.00
Insta	allation Materials	Speci	fication	- 0	Qty		Price per qty		Subtotal
Insulated	Copper tube	5/8"Ø	x 1/4"Ø	18	ft	₽	400.00 /ft	₽	7,200.00
Royal Cor	d (Comm wire)	2.0 sq.	mm x 4c	2	 3 ft		100.00 /ft		2,300.00
Circuir Bre	eaker Weather Proof	30Am	os / 1Ph	1	рс	,E	1,000.00 /pc		1,000.00
Estimated	Charges	No. 11 to 12		ur sauces co	brejsk h			₽	19,000.00

cation/s: LIVINGROOM 2ND	Area: 44	4.00 sqm.				
CU#: 11 Unit Model:	KSG-IWF-25WFY8K1N	132 Unit Capa	city/Type:	2.5HP Wall Mo	ounted	Inverter
Estimated Pipe Length	= 30 ft	9-				
Estimated Royal Cord Length	= 35 ft					
Initial Charge					₽_	8,500.00
10ft Copper tube						
10ft Royal Cord						
Outdoor bracket Wall/Floor						
Consumables						
	Specification		gogoda.	Price per qty		Subtotal
Consumables Testing and Commisioning	Specification 5/8"Ø x 1/4"	n Q	gogoda.	Price per qty 400.00 /ft	₽	
Consumables Testing and Commisioning Installation Materials		n Q	ty		₽	<b>Subtotal</b> 8,000.00 2,500.00

Total Estimated Charges 

₱ 210,050.00

# NOTATION

Mounting/Installation of FCU and ACCU to designated and approved location.

lay-out of new refrigerant copper piping with rubber insulation.

lay-out of communication control wire with electrical pipe conduit.

installation of consumable materials such as nuts, clamps, bolts, tapes, drain pipes to complete installation works.

Flushing and Leak testing of entire unit using nitrogen gas.

Vacuuming of entire system using vacuum pump to free the system from moisture and air.

Charging of freon if needed, test run, observation and commissioning of unit.

Mobilization and demobilization.

Start-up checklist documentation of unit to be submitted to supplier for warranty purposes.

# Mode of Payment:

- \* 50% Down payment
- \* 30% Progress billing
- \* 20% Upon Completion

BDO CHECKING ACCOUNT: 013798000969

GODSPEED REFRIGERATION AND AIRCONDITIONING SERVICES

Conform Prepared By:

Bonnevie Chan Ruiz	
ADMIN	OWNER/ REPRESENTATIVE